
� ���

����� 	�
	�
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��
�������� ����� ���� ����� � ��
� !"#� $% &'( )*# +,- ./* 0 1(2- 3 )4)-/ 3 )!'%"!* 3 )#'4( *5 66!(74 3 )% . % )� !*% !7"")8 /% 3)%
�3 )%( 3 )% % !� $9 �-)93� !2% &,-#)'( '8 ( % )�

s
'5%# 0

x(t) = est �')7�( 3 )% % !� -./* 3#'4(*
*5 !:'8 1)'38 ')-4 )2 �;-)4 / );-* */ +

H(s)
-#)'( 4)-/ ')-4

H(s)est �!�3 �-)93� '()*# &�')7
+/ );-") �% ))5(- -!7" +

yp(t) = H(s)est �')7�( !:'8 1)'38 5 !
x(t) = est � !"# ')-45 5<"" +' .;(

N
∑

n=0

an
dny(t)

dtn
=

M
∑

m=0

bm
dmx(t)

dtm
,=+>+> 0

N
∑

n=0

an
dnH(s)est

dtn
=

M
∑

m=0

bm
dmest

dtm
,=+>+? 0

H(s)
N

∑

n=0

ansnest =
M
∑

m=0

bmsmest,=+>+@ 0

H(s) =

∑M
m=0 bmsmest

∑N
n=0 ansnest

.
,=+>+A 0

$ )"!* )8� *5 5')5 )""!%
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�'2< �!' )8
C�%!7!� 3% -5<" &� !7 )*))")/ 3#'4( ')-4

y(t) =

∫ ∞

−∞
x(t − τ)h(τ) dτ

,=+>+= 0

=

∫ ∞

−∞
es(t−τ)h(τ) dτ

,=+>+� 0

=

∫ ∞

−∞
este−sτh(τ) dτ

,=+>+� 0

= est

∫ ∞

−∞
e−sτh(τ) dτ

,=+>+� 0

= estH(s).
,=+>+� 0
$ 9 3';9)( 3#'4( �3 )% $%5 1-)(# +� !"#� 3 )% *)8# 4)-/ % !� �-)93� !# �%7)3* )"49� -)5 )
+3#'4(* �')5/� &3<% �!7/")8 3 )!�* 3-!!<

H(s)
�!7/ ")8� !2% &� !7 )*))")/ 3#'4(# $9) ' .;( �';

*5 '5/�- + *8* 3'(3� *5 '5/�- �5(�- �!*4 ;(*") &3') (3� 3!7/")8 3%'/"
H(s)

�!7/")8�
!� )2 � !7 )*))")/ 3 )#'4( *5 '5/-) &$ !( )"!* )8 !"5 *5 �"( ;!(3 %!� )2 � !7/ ")8 !# $ !% )' )"% '.;(
'8 ( % )�

ω
'5%#

s = jω
$% &:'8- +,� !7 )*))")/� 1!4'9 )% 0 $*�� 3-)93 *5 3 !;;7 );  *8* 3'(3�

3-)93 $ !%')/ )"%
H(jω)B* +!3 !)2 ';3# 5'8* 13 !"

ω
3%) &!")('� 3 )% % )� � !"#� 3 )% !2% &!5((

3 )%� % !� �2 ';3- 3 )%* �-)93� !2%
ejωt !")('� 3 )% % !� � !"#� $%5 1)!#( &3#'4(� *5 ';3�

3'(3� / )!;- % !�
( 5.1.9)BB( 5.1.8)

!;! *4
H(jω)

3';9� +';3� 3-)93 % )�5 4)-/- *8#)(� &!')/(�
*4- '-;BBB3 )!'%"!* 3 )#'4( *5 ';3� ')5 !(- < )3 !"* )"3 )% �*!- )( )2 �;-)4 +

h
$*�� 3-)93 *5 �!' )8

+3 !- !: !% ): "!% ) 3 !*/ !2!8 3 )4(5(

�
��� ����� � ��
� !' )8 *'9: "!% �'; �!' )8 3'(3� 3% '!;9" ,

4.1.2
�';9� 0

L1B- 3 )!7/ ")8 ' )-4

F{x}(ω) = X(ω)
.
=

∫ ∞

−∞
x(t)e−jωt dt.

,=+?+> 0
�#)8�� �!')8 3'(3� 3% '!;9" !2%

L1B- % )� $9
X(ω)

$%

F−1{X}(t) = x̂(t)
.
=

1

2π

∫ ∞

−∞
X(ω)ejωt dω.

,=+?+? 0
1!-*

x
1!- '5/� +!' )/(� 3 )%� 3% �'!2<( �#)8�� �'(3��5 )"* <:-)( %*5 %!�

x̂
1)( ! * �-! �

)"!% �% &� !')8 3'(3� -)5 !<* �'; % )� *'9: "!%� !# 5 !9;�* - )5< +/()4* )"!-�* -)5<) -#')( % )�
x̂*'9: "!%� :'8-) &

L1B- 3 )3 )%* /' �8/3 �'; !� )2 +�'(3�� 3% '!;9�* �;!<!� �';�
∫ ∞

−∞
e−jωt dt

+ ,
t
*#*

1
�))5� 3 )%� 0

1
3)%� *5 �'(3�� 3% '!;9( )"!% %*!(() &**# ';9)( )"!%

�# 1( " $� !"!- '5/� 3% +
x
3)%� *5 �!')8 3'(3� %!� F [x](ω)

+$ !%-� $!")( ! - 5(35" )"%
�!7/ ")8 0 !3 !4� 3 )%�5 �#* 3 )-!5< 5 ! 1#*) &

x 6= F [X]B5 1))!# !':(! )"!% �2 '5/ !# -* $ !5 " +
x

F↔ X+1!( ! ;7- �4!8 )( &';3� �"35( *5 �!7/")8 % !�5 &�'(3��) *%(5 ;7- 4!8)( ,
t
�"35(� *5
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�'2< �!' )8
���� � ��

$ !%"3� *# 3% 1!!7" %* �# -/4 +3 )!*'9: "!% 3 )'(3�) � !')8 !' ):  ')/( '()< *4 ')2<" �2 � !4 -
$ !( !!/( $"!%5 3)3 )%* -!<'" %-� � !4 - +

L2B- $9) L1B- $� 3 )3 )%� *#5 <!"" �2 � !4 - +$ !!:(3(�
+)*% $ !%"3

�x̂�� ��	
� �
��� ����� �� X �� �X�� ��	
� ����� ����� �� �� ��� L2�� ��� ��� x �� 5.3.1 ����
������ �

∫ ∞

−∞
|x(t) − x̂(t)|2 dt = 0 .

,=+@ +> 0

�'(3�� !# $ !<!:-(� $ !")5 $ !%"3 $"5 ! +'3 )! )- / !(4" �5(�- �% &!;(* :58)( % )� �2 :85(
+!')/(� 3 )%� 3% �'!2<( �#)8�� �'(3��) &�;)/ " *#- 3';9)(

X ∈ L1 �	�
� �� ���	� X(ω)�� ���� �� !�� ��� ����� ����� ��� x ∈ L1 �� ���
��� ��
� 5.3.2 ����
"����� ���
�� ��� ����� �

����	 �� � #�� �
� ��� �
�� � ��� �	�� �� ��
 �� ���	 ��	� �#� ��� x ���� � $
����	 �� � #�� �
� � ���%� �� �� ��
 �� ���	 ��	� �#� ��� x ���� �&

���

x̂(t) =
1

2
[x(t−) + x(t+)] .

,=+@ +? 0

�� ���%� �� �� ��
� ��
�#� #%���� ����� �� ���%� � ��
 �
� ������ � ��� ���� �
���� ������ ��� ��

1# ) &-: !� 3';9)( �'(3�� C� ")5%'� �"4:� 3% /' <!#)" C'()*'

|X(ω)| ≤
∫ ∞

−∞

∣

∣e−jωt
∣

∣ |x(t)| dt = ||x||1 .
,=+@ +@ 0

+, +� +�
-./01.. 123241 5676 8

"� ���
�� ���#� ��� ����� ����� 5.3.3 ����

ax1 + bx2
F↔ aX1 + bX2 .

,=+@ +A 0

+, +� +� +*'9: "%� 3 )!'%"!*( 4-)"BBB*'9: "%� �'; 3';9)( �'(3��5 �'/(� ')-4 C'()*'
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�'2< �!' )8
X(ω) = X∗(−ω) ��� ����� ��� �� ��
 �x(t) = x∗(t) �� ���� �� ����� �� ����� �	 � �
�
� 5.3.4 ����

���
���� �� ��� � �!�� ��� �� ��

����� ��� X(ω) ��� �x∗(t) = x(−t) �� ��
 � ��
���� �� ��� � �!�� ��� x ��

�� ��� ���� �	 ��
� � x(t) = −x(−t) �� �X(ω) = X(−ω) ��� ������ �� ��� ���� �	 � x(t) = x(−t) ��
�X(ω) = −X(−ω) ��� ������

!2% !5((
x
$% C'()*'

X(ω) =

∫ ∞

−∞
x(t)e−jωt dt

,=+@ += 0

X∗(ω) =

∫ ∞

−∞
x∗(t)ejωt dt

,=+@ +� 0

=

∫ ∞

−∞
x(t)e−j(−ω)t dt .

,=+@ +� 0

+, +� +� +�( ); 3 )")#3� '%5 3<#)�

�� �� ���� �� ���� ��
�
�� �
�� ����� ������ 5.3.5 ����

x(t − τ)
F↔ X(ω)e−jωτ .

,=+@ +� 0

� �� ����

x(t)ejω0t F↔ X(ω − ω0)
,=+@ +� 0

��� �� ������ � ����!
d

dt
x(t)

F↔ jωX(ω) .
,=+@ +>� 0

dn

dtn
x(t)

F↔ (jω)nX(ω) .
,=+@ +>> 0

��� �� ������ � ��% ����
��

(x ∗ y)(t)
F↔ X(ω)Y (ω) .

,=+@ +>? 0

�� �� ������ ��
 �� �� �� ������ � ��% ����
��

x(t)y(t)
F↔ 1

2π
(X ∗ Y )(ω) .

,=+@ +>@ 0

�� � �� � �� � ���	 ��
��

x(at)
F↔ 1

|a|X
(ω

a

)

.
,=+@ +>A 0
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�'2< �!' )8
�F [f ](ω) = 2πg(−ω) ��� f = F [g] �� ���� ���� ���

� ���
� ��� �Duality ������ 5.3.6 ����

��� �� ���
 �����

F (F [h]) (u) = 2πh(−u) , F4[h] = 4π2h .
,=+@ +>= 0

�';9��( C'()*'

F [f ](u)
.
=

∫ ∞

−∞
f(s)e−jus ds

,=+@ +>� 0

= 2π
1

2π

∫ ∞

−∞
f(s)ej(−u)s ds

,=+@ +>� 0

= 2π
(

F−1[f ]
)

(−u)
,=+@ +>� 0

= 2πg(−u) .
,=+@ +>� 0

+, +� +� +� !"5� �')5� $9 34-)" 1%#(
3/34�BBB4 )-/- *8# !;# ;4BBB% !� 3 !4!-' �/2<- F *5 �*48� !# % !� �")'<%� �< )"� 3 )4(5(

!# 3 !;!!( 4-)" 1%#( +!' )/(� 3 )%� 3% �'!2<( % !� C3 )�2�

F−1 =
F3

4π2
.

,=+@ +?� 0

�L2�� x, y �
� ��Plancherel ���
�� � 5.3.7 ����
∫ ∞

−∞
x(t)y∗(t) dt =

1

2π

∫ ∞

−∞
X(ω)Y ∗(ω) dω .

,=+@ +?> 0

y ∈ L2 �
� �� �Z(ω)�� x(t) ∈ L2 �� 
�� ���� �� ��� X(ω) �� ��� !� �� �
�
�
∫ ∞

−∞
x(t)y∗(t) dt =

1

2π

∫ ∞

−∞
Z(ω)Y ∗(ω) dω

,=+@ +?? 0

"� �� ����� �� �� �� ����� ���� �� �
 � ��� �� ��!�
�� �� ����� �x F↔ Z ��
�� ���
∫ ∞

−∞
x(t)x∗(t) dt =

∫ ∞

−∞
|x(t)|2 dt =

1

2π

∫ ∞

−∞
|X(ω)|2 dω .

,=+@ +?@ 0

�: !5 C� !*<3 )"* 13 )" :85(� &
L2B- 3 )3 )% ')-4 � !' )8 3'(3� -)5 !<* �< )" )"* 1!%5 1))!#( C�'4�

5.4.1
�(); �';9�- 5(35�* '58% !# �%'" �5(�- +� !' )8 3'(3� 1#% % )� $ !!) ( ;(4)( $% / );-*

+�'(3�� -)5 !< �')7* $9
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3 )**#)( 3 )!7/ ")8* �'(3� �!')8
&
L1B- $9) L2B- $�5 x, y

')-4 C,;-*-
( 5.3.23)B) ( 5.3.22)

*5 0 '()*'
∫ ∞

−∞
x(t)y∗(t) dt =

∫ ∞

−∞
x(t)

[

1

2π

∫ ∞

−∞
Y (ω)ejωt dω

]∗

dt
,=+@ +?A 0

=
1

2π

∫ ∞

−∞
Y ∗(ω)

[
∫ ∞

−∞
e−jωtx(t) dt

]

dω
,=+@ +?= 0

=
1

2π

∫ ∞

−∞
Y ∗(ω)X(ω) dω .

,=+@ +?� 0

+, +� +� +1%# <!# )" %* � !"5� �"4:� 3% +$ !-)'/ !;! *4
L1B- <'#�- $"!%5 3)3 )%* 3%2 - !<'�* 13 !"

' )5 !(- 3 )%� �'; $9 �% &1(2� ')5 !( �'; $9 -5<* 13 !" 3 )% *5 �!9'"%� 3% !# �%'( �2 :85(
3'(3�* <38(� % !� )2 �< )" !# �%'" �5(�- +

ω
';3- 3 )%� .*;)9. 3% '%3(

X(ω)B5 1%#( +';3�
+'3 )! 3 !**#� �!' )8

����� �� ��
������ �
��� ����� � ��

u
�9';(� 3 !7/")8 *5(* �# C3 )**#)( 3 )!7/ ")8# 3 )*!9' 3 )!7/")8 5'8* 13 !" !# 5 !9;�* 5 ! 3 !5%'

�"<-�5 1-)(# +� !' )8 3'(3�* *'9: "!%� 3< )" 3% �!*4 *!48�* 13 !" %* 1#* +
L2B- %* $9) L1B- �""!%+3 )**#)( 3 )!7/ ")8* $9 �")#" )2

3 )!7/")8* $9 � !' )8 3'(3� '!;9�* 13 !"5 '-3 ( &3 !'58% �""!% *'9: "!%� �'; �';9��5 3)'(*
!2% &

ω
�"35(� *5 1<- 3 !7/")8 % !�

φB) L1B- � !7/")8 % !� f
$% !# -* $ !5 " &�';9�� �')7* +3 )**#)(

∫ ∞

−∞
F(f)(ω)φ(ω) dω =

∫ ∞

−∞

∫ ∞

−∞
f(t)e−jωtφ(ω) dω dt

,=+A +> 0

=

∫ ∞

−∞
f(t)

(
∫ ∞

−∞
e−jωtφ(ω) dω

)

dt
,=+A +? 0

=

∫ ∞

−∞
f(t)F{φ}(t) dt.

,=+A +@ 0
3 )!7/")8 ')-4 )"<#)� '5% �2 '5/ +1<- 3 !7/")8 �(74- % !� 1<- 3 !7/ ")8 *5 � !' )8 3'(3� !# -* $ !5 "

+3**#)( �!7/")8 *5 �!')8 3'(3� *5 �';9� �54(* 5(5(
L1B-

��� �ω �
���� �� ���
�� ��%�
�� ��� t �
���� �� f ���
�� ��%�
�� �� ����� ����� 5.4.1
'���'

"��� � ��%�
�� �# ����#� �� �� !�� ���� �F(f)�� ��	

∫ ∞

−∞
F(f)(ω)φ(ω) dω =

∫ ∞

−∞
f(t)F{φ}(t) dt.

,=+A +A 0

*5 �!')8 3'(3� !;! *4 )"*-!/ '5% 3**#)(� �!7/ ")8� *5 �*)48� 3% '%3( �% ))5(� *5 *%(5 ;7
�!7/ ")8� *5 �*)48� / )!;- % )� 1#5 -: !� ';9)( 1!( ! ;7 +1<- 3 !7/")8 *4 �3*)48 3/ !;- !;! *4 3%2 �

f+1<- 3 !7/ ")8 *4
f
3**#)(�

/ );-* )"*4 3**#)( �!7/")8 1#% % !� 3**#)( �!7/")8 *5 � !' )8 3'(3�5 %;))* !;# C3 !:(3( �'4�
*'9: "%� 1#5 3!;!!( % !� 3 )!'%"!*� $*)% &1%# 1);" %* � !"5� �;)/"- +3 )8!7') 3 )!'%"!* C$ !'-; !"5

+*%(5 ;7 $9 1#*) !'%"!* �';9�� *5 1!( ! ;7 1#* &!'%"!* % )� �!' )8 3'(3� *5
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3 )**#)( 3 )!7/ ")8* �'(3� �!')8
+3 )'(5 " � !' )8 3'(3� 3)")#3 *# &3 !*'9: "!%� �'(3�� *5 3 )")#3 �'; �!' )8 3'(3� )"';9�5 1))!#
*5 '5/�- )"!%' 0 �';9�� *5 1-)(- &�*5 �!' )8 3'(3� 1!-* � !7/")8 1!- !#'4 ;< ;< '5/ 5 ! &:'8-

+,�;)/ " *#- �'4*  <!- )"!% '5/�5 �*#!' !; !% "3

"��� ��%�
�� �� ����� ����� �� ���
 5.4.2
'��*�

∫ ∞

−∞
F{δ}(ω)φ(ω) dω =

∫ ∞

−∞

∫ ∞

−∞
δ(t)e−jωtφ(ω) dω dt

,=+A += 0

=

∫ ∞

−∞
φ(ω)

∫ ∞

−∞
e−jωtδ(t) dt dω

,=+A +� 0

=

∫ ∞

−∞
φ(ω) · 1 dω,

,=+A +� 0

�t �
� 1 ����� ��%�
��� �� ��
 �1 ��%�
��� ��� ��� �� ����� ����� �
��
+
1
�!7/ ")8� *5 �!')8 3'(3� 3% -5<" &� )8�� 1))#-

�� !�� ����
 ����
�� ��%�
�� ��
 ���� 	����
 1 ��%�
��� �� ����� ����� �� ���� � 
 5.4.3
'��*�
���
�

∫ ∞

−∞
F{1}(ω)φ(ω) dω =

∫ ∞

−∞
1 · F{φ}(t) dt

,=+A +� 0

= 2π
1

2π

∫ ∞

−∞
ej·0·t · F{φ}(t) dt

,=+A +� 0

= 2πφ(0)
,=+A +>� 0

=

∫ ∞

−∞
2πδ(ω)φ(ω) dω

,=+A +>> 0

��%�
�� ��� φ�� ����
 "ω = 0 � ��
� φ �� ������ �� �
��� ����� �� �
 ����� ������ �
��� ������� ���

������ ������ ����� �� ������ ���%�
��� �� ������ ��#� �� �
��
 ������ �� �
���� ������ ����

�F{1}(ω) = 2πδ(ω) �
 ����
���
 1 �� ����� ������ �� �� ����� �
�
��

F
(

ejω0t
)

(ω) = 2πδ(ω − ω0) .
,=+A +>? 0

�� ����


cos(ω0t) =
1

2

[

ejωt + e−jωt
],=+A +>@ 0

�
 ������ �� �����
��� �
�
�� ���


F [cos(ω0·)](ω) = π [δ(ω − ω0) + δ(ω + ω0] .
,=+A +>A 0
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3 )**#)( 3 )!7/ ")8* �'(3� �!')8
�L1�� �
�� �� ��� ��� �� ����� �� !�� ��%�
�� ����� �� ��
 �x(t) = tn �� ������ �� ���
 5.4.4

'��*�
���
 ( 5.4.4) �� !�� ������� ������ ����!�
��� ��	�
� ������ ���
 �� �
��

∫ ∞

−∞
F{x}(ω)φ(ω) dω =

∫ ∞

−∞
tnF{φ}(t) dt

,=+A +>= 0

= (−j)n
∫ ∞

−∞
(jt)nF{φ}(t) dt.

,=+A +>� 0

��� ��� ��!� � ��
 ��
� � dn

dωn
φ(ω) �� ����� ����� ��� (jt)nF{φ}(t) �
 �
��� ����

∫ ∞

−∞
F{x}(ω)φ(ω) dω = (−j)n

∫ ∞

−∞
F

{

dn

dωn
φ

}

(t) dt
,=+A +>� 0

= (−j)n2π
1

2π

∫ ∞

−∞
ej0tF

{

dn

dωn
φ

}

(t) dt
,=+A +>� 0

= 2π(−j)nφ(n)(0)
,=+A +>� 0

=

∫ ∞

−∞
2πjnδ(n)(ω)φ(ω) dω

,=+A +?� 0

�F{tn} = 2πjnδ(n) �
���� ������� ������ ������ ������� �

�� �� ��� 5.4.1 �� �� !�� ������ ����
�� ��%�
�� ��� ���
�� ��%�
�� �� ����� ����� 5.4.5 ����
��� ������� ��%�
��� ��� ���� �5.3.6�� 5.3.5 �5.3.4 �5.3.3 ������� ��#����� ����� ����� �� ��
�
��
�� �� ��� ��� � � ���� ���� ��%�
�� �� ���� ����� �
�� � ��� ����� �� ��%�
�� �
� �� ��
 �
�#  �  �

�� ���
�� ���%�
��
3)% )�25 1))!# +� !' )8 *'9: "!% �'; �'(3�� 3% -5<* 13 !" %* 1#*)

L1B- )""!% x(t) = sign(t)
3)%�

!:(3(� <)3 !8� +)*5 �'(3�� -)5 !< 3% '%3* � "" &$ !'<% $!-)5 !<* %7)( 3;)/" � ))�( ) ! ! -
+1%# )3 )% '%3" %*) &-#')( %)� / !);(�

�")#3�( !# -* $ !5 " &3 !5%'

F
(

dx

dt

)

(ω) = jωX(ω)
,=+A +?> 0

$ !!/3( $% !# 4-)"
dx

dt
=

dy

dt

,=+A +?? 0
!)*3 )"!%5 4)-/ %)�

x(t)− y(t) = c
!# < !:-( 3 )'29"� *5 1)!))5� +

ω 6= 0
*#*

jωX(ω) = jωY (ω)
!2%

'(%" &3'29"� *5 � !' )8 3'(3� )"* �4);! $% &�#( �'3 ! +
tB-

F
(

dx

dt

)

(ω) = Y (ω)
,=+A +?@ 0

ω 6= 0
*# ')-4 &<'#�- !2%

X(ω) =
1

jω
Y (ω) + Z(ω)

,=+A +?A 0
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3 )**#)( 3 )!7/ ")8* �'(3� �!')8
3**#)( �!7/ ")8 % )�5 )% &

0
)% % )�

Z(ω)
!# % )� '-;� 5 )'!85 1- )(# +

ω 6= 0
*#*  8%3(

Z(ω)
'5%#

+� !3 )'29")
δ
3(9); &

0
-!- /' % !� �3485�5

&!*!-'9: "!% ) !':(! B!: "% 3 )% ')-4

X(0) =

∫ ∞

−∞
ej·0·tx(t) dt = 0

,=+A +?= 0
$ "!%5 $ !!':(! B!: "% 3 )3 )% ')-4 $9 �8/3 �!�3 )2 �")#3 !# $ !87( )"% 1#* +� !':(! B!: "%� -/4

&:'8- +$ !*!-'9: "!%

F [sign](0) = 0 .
,=+A +?� 0

&3'29"� 3")#3 � )3(

F
(

d

dt
sign

)

(ω) = F(2δ) = 2 .
,=+A +?� 0

!# 4-)" 1%#(

F(sign)(ω) =
2

jω

,=+A +?� 0
+
Z(ω) = 0

'()*# &1)/ !3 � ! )�* �')7 1!%5 )"* <:-)( �!':( ! !: "%� 3")#3 **9- '5%#
3( !!/( �9';(� 3 !7/")85 1))!#

u(t) =
1

2
(sign(t) + 1)

,=+A +?� 0
!#

1
*5 �'(3��( ) � !' )8 3'(3� *5 3 )!'%"!*�( 4-)"

F(u)(ω) =
1

2

(

2

jω
+ 2πδ(ω)

)

=
1

jω
+ πδ(ω) .

,=+A +@� 0
C$# " �"(( �-)5< �"/ ( 1#) �%7)3� 3%

������ �� �	� ��%�
��� �!� �� ��%�
�� ���# 5.4.6 ����

F(sign)(ω) =
2

jω

,=+A +@ > 0

F(u)(ω) =
1

jω
+ πδ(ω)

,=+A +@ ? 0

��!�
�� �� �����

F
(

∫ t

−∞
x(τ) dτ

)

=
X(ω)

jω
1{ω 6=0} + πX(0)δ(ω) .

,=+A +@@ 0
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3 )#'4( ) 3 )3 )% �!' )8
&� !7 )*))")/� 3")#3( +1)'<%� !): !-� 3% /' <!#)" C'()*'

F
(

∫ t

−∞
x(τ) dτ

)

(ω) = F (x ∗ u) (ω)
,=+A +@A 0

= X(ω) · F(u)(ω)
,=+A +@= 0

= X(ω) ·
[

1

jω
+ πδ(ω)

],=+A +@� 0

=
X(ω)

jω
+ πX(0)δ(ω) .

,=+A +@� 0

+, +� +�

������� ����� ��
��� � ��
-)'!/ %*% )"!% *'9: "!% !# '#2" +�#)8� �!' )8 3'(3� *5

( 5.2.2)
3!*'9: "!%� �';9�- - )5 1")-3 "

C$ )# *

x(t) =
1

2π

∫ ∞

−∞
X(ω)ejωt dω ≈ 1

2π

∞
∑

k=−∞

X(kΩ)ejkΩtΩ .
,=+=+> 0

� !7/ ")8� *5 $;/(� '5%#
ejkΩt �')7�( 3 )!")('� 3 )!7/ ")8 *5 � )%*

x
3 )%� 3% )"/'!8 '( )*#

*5 �'4�5 *## &�# $% +�2 ';3- �!' )8 3'(3� *5 �'4� BBBX(kΩ)
/ )!;- % )�

kΩ
';3- 3 !")('��

X(ω0) = 0
$% &� )8�� 1))!#- +�2 ';3- *);9 -!#'( 3 )%* !# '( )* 13 !" �# &$ !!) ( ';3- '3 )! *);9

X(ω)+� 2 ';3- �!9'"% 1!%
xB* !2%% !�

ejωt �')7�( !")('� 3 )%* �!7 )*))")/ 3#'4( 3-)93
5.1

� !4 - )"!%'5 !8#

y(t) = H(ω)ejωt .
,=+=+? 0
3 )3 )%* 3#'4(� 3-)93 *5 *;)9� 3% 3'%3( %!�5 $ )5( 3#'4(� *5 ';3� 3-)93 $ !%')/ )"%

H B*% !�
x
� !"#* �-)93� !# )"!%' '3 )! !**# 18 )%- +$ !")5� $ !';3- $!!")('�

y(t) = (x ∗ h)(t)
,=+=+@ 0

Y (ω) = X(ω)H(ω)
,=+=+A 0

+$*�� 3-)93 %)�5 &� !7 )*))")/� 1!4'9 *5 �!' )8 3'(3� %!�
H

'5%#
% )� �%!7!) � !"# 1!- '5/�5 1))!# +3 )#'4( *5 $ !')- !< <3"* <)" !*# )"* 3 "3 )" � !' )8 3'(3�

!'-9*%

Y (ω) = H(ω)X(ω)
,=+=+= 0

+$ !-#')( $ !' )- !< $9 <3"* 3 ! <! */

�
  ��� ���
 ����%�� ������ � � �# ����� ���� � �
�#� ����� 5.5.1
'��*�
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-
yH1 H2-x -z

'):- 3 )#'4( ')-!< C=+> ')!%

Z(ω) = H2(ω)Y (ω)
,=+=+� 0

= H2(ω)H1(ω)X(ω)
,=+=+� 0

��� ����
� �
�#�� �� � �� ���!� �
��

H(ω) = H2(ω)H1(ω) .
,=+=+� 0

�����
� � �� ���!� �� ���
 ����%�� ������ � � �# ����� ������ � �
�#� ����� 5.5.2
'��*�

-x

-

-

H1

H2 -
y1

-
y2

-
y

��
��
+

*!-/(- 3 )#'4( ')- !< C=+? ' )!%

Y (ω) = Y1(ω) + Y2(ω)
,=+=+� 0

= H1(ω)X(ω) + H2(ω)X(ω)
,=+=+>� 0

= (H1(ω) + H2(ω))X(ω)
,=+=+>> 0

�H(ω) = H1(ω) + H2(ω) ��� ����
� �
�#�� �� � �� ���!� �
��
�4!85( 3#'4(� C�# � !"#� 3 )% *4 3#'4(� 3485� 3% 5'8* '58% &�2 /'8 *5 3)*#3 �-
3% 3/2<( ) &1:/ %)�

H(ω)
$�- $ !';3 3"" ( 3#'4(� +$ !")5 $ !';3- 3 )%� !-!#' *4 �")5 �')7-

�# $% 1" ( +.1" ( . 3#'4(* % )'/* !4-!: 3#'4( *4 )2# 3 )*#3 �- +*);9
H(ω)

$�- $ !';3- 3 )%�
+';3 *#- � !"#� 3 )% *4 3#'4(� �4!85( ;7!# BBB�*%5� �'; % !� 3 )*#3 �� '5%# &3#'4( % )�
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3 )#'4( ) 3 )3 )% �!' )8
��33�0 565 6 8

+$ !( !!) ( $ !';3 1" * 1#% $ !;4)!( '3 )!- $ !! ! -� $ !"" (�
�
�#� ��� ωB ��#�� � � �# ���� �� Low Pass Filter ��
�� 
 ���#� �
	� ���	 ����#� ��

	� 5.5.3

'���'
��� ��� � �� ���!� ���

H(ω) =











1 |ω| < ωB

0 |ω| > ωB .

,=+=+>? 0

-

6

ω

H(ω)

1

−ωB ωB

$ !#)( " '!-4( 1" ( C=+@ ')!%

��� ��� � �� ���!� ��� �
�#� ��� ωB ��#�� � � �# ���� �� High Pass Filter �����! ���#� �
	�

H(ω) =











1 |ω| > ωB

0 |ω| < ωB .

,=+=+>@ 0

-

6

ω

H(ω)

1

−ωB ωB

$ !� )-9 ' !-4( 1" ( C=+A ' )!%

��� ��� � �� ���!� ��� �
�#� ��� ωB1
, ωB2

��� �� ���� �� Band Pass Filter ��	 ���#� �
	�

H(ω) =











1 ωB1
< |ω| < ωB2

0 otherwise.

,=+=+>A 0
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-

6

ω

H(ω)

1

−ωB1
ωB1

−ωB2
ωB2

:' '!-4( 1" ( C=+= ' )!%

�
�#� �
� ���%�
 ���
 ��

	� ���� �! �� ����% �� �
��
� ���
 ��� �
	� ��� ������ �
	� 5.5.4
'��*�

�
	� ������� ������ ����� ���
�� 
� ��� �� �� ���!�� �� ������� � ���
�� � ����� �
	�� ��� !� � "����	
�
 ��� ���#�� ���� �
	�� ���
 ��!�
��� �� ���� �#%��� ���
 ������� �����
 ������ ���
 ������
"��!�� ��� � ���� �� ����	 ���%� ���#�� ��
� ��#� �
	� �
 ����� �
� ���
����� ��� �� ���� �� ��
��
��� �� ���� ��� ���� �� �
�� � ����� ���%� �
�� �� ��
 � ��� �� �
�� �
	�� ��	�
� �� ��
� ��� ��� ��#�
�������� ����
� �� �� ����� ��� �� ����� �� ��
� ��� ���� ������ ����
� ��� ���#� �
	��� ���
 �� ��� ��
�
��
� ��� ���
 �
	�� �� � �� ���!� �� ���� ������ ��� ������ �9 ���� ���
 ���
�  �# ����	 
�

���
�� 
 ��� � ���!� ��� ���
 ����!� �� ���� ����#� ���� ���
�� 
� ��� �� �� ���
��

6

hhhhh@
@

@
@@

hhhhhA
A

A
A

A
A

A
AA

-
(((((�

�
�

��

(((((�
�
�
�
�
�
�
��

((((((((((
hhhhhhhhhh

H(ω)

ω

1

−ωB ωB$ !#)( " '!-4( !':('8 1" ( C=+� ')!%

��	�� ��� ��� ���	� ��	��� ����� ������� ��	�� ��#�� �
��� #�� ��
�#�� �� �
�� ����� 5.5.5
'��*�

�
� �# �
��
 ���%� ����	��� � �� ��� ������� ����� �!��� ��
� ��� ���
�� ����� ��
�� ���� ��� �������
����� �� ��� ! ����� � ��% �
�� �� ��� ! ���� ����� 
 ����� ���% �� ��
�� 
 ��� ��� ����
 ��� ��� ! ��� � ����
��������Woofer ����� ��
��� �������� ����� �
�� ��
 �� � �� ���	� �� ����! � ����� �� #�
� ����� ��

�tweeter�� � ���� 700−5000 � ���
�� �� �� ����� ��������mid-range � ���� 70−700 � ��
�� 
 ��� �� �����
������� ���
 �� �� ��
�� 
 ��� �� subwoofer ��  ����� ���� �
�� � �
�#�� � �����! ��� �� ����� �������
�%
� � 
 ��� ��� #!�
� ��� �� ���� �� �� ����� �
� ���#�� ��� � ���� ���� �crossover ���
� ��!#� ��
��
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�
	����� �
�#� ���� �
�� ��!� � ����� �!#�� �� �� ����� ����
 ���!�� #
���� �� ��� ���!�
� �� �� �� � ��
��� �� �� �����#�� �����! ���#� �
	� � ��	 ���#� �
	� ���
�� 
� ��� �� �� woofer�� ���#�� ��
�� 
 ���#�
����� �� �� ����� �� ��� ���# ���� � 
 ������ �!#�� ��� �#� ������� �	�
� ������� �������� ��� �����
��� �
�#�� ���!� �� ��
 ���
�� ��� ��	��� ���� �� �� ����� ����
 ��� � ����� ����� ��� ���� ��� ��

"�# ���

H(ω) =











K ωB1
< ω < ωB2

0 ����
,=+=+>= 0

��
 � !��� ��
	��������� �!#� � � �# �� � ��� �
 �# ���� ���
 ����� �� �
�� # � �
 ����#� ������� ����
��� ��� � �� ���!� ��� �
	� ����
 HL(ω) ��� ������ �� � �� ���!� ��

HF (ω) =











K/HL(ω) ωB1
< ω < ωB2

0 �����
,=+=+>� 0

 ��� ��
�#�� ��� �� � �� ���!� �� ��� � ��# �� � �
�#�� �� ��
 ������� ������ �
	�� 	


 ������ � ���
�
� ���

H(ω) = HL(ω)HF (ω) =











K ωB1
< ω < ωB2

0 ����
,=+=+>� 0

�� ��%�� ���!�� ��� �

�
�#� �� � �� ���!� �� ���� � 
 �
	�� ��#�� �� �
 �
 �
��� �� �

	� !�� � � �# ���#� ����� 5.5.6
'��*�

���� �%�� ��� ����#� ����
 ����#� ��� �
��
 �
�#�� �#
 �
���
 ��pre-filter � �� � �� �
�#� ���#�
�� � ���%�� ������� ���� �
�#�� ���#� ���% �
 �

� � �
�� ��# "DVD ���% �� ��������� ���% ������
�� �	�
� � ���
�� �
�#� �� ���# �	�

� � �� "����
� ���#�� �# �
 �� ����
 ��#���� �� �� ���#� ���% �


"�#�

y(t) = x(t) ∗ h(t) + n(t) Y (ω) = H(ω)X(ω) + N(ω) .
,=+=+>� 0

���� ��
�� 
 ��� �� ��� �#�� ���� ���#� �%� � ��

 �N �#� H �# ����� �
� ��� �� �� �� � ���!� � ��

�H1 � � �# ������ pre-filter �� �� �
	� "��

	� �
� ��	�� � � �# �� � �
�#� ��%�
 ������! ��� �� ��	��
��� �� ����� H1(ω)H2ω) = 1�� �
 H2 � � �# ������ post-filter ���	 �
	� � ������! ��� � ���!� ���
�� �
�� �� ��

	�� !�� ��
����� �
�
�� ��!� �� ��� �
�� ��#��� � 	 �� �
�#�� � ����
�� ��!� ���
�����
�#�� ��� ��� �� �� ���
� ��� H2 �
	� �� �� �
�	�� N(ω) �#�� �
���� ���� ����%�� �	�

 �� ����

����#� ����� �
���� ��� !
�� �� ��	�

� ���� �����!� ��� �� ����!�� �� ��
 H1 �#��� ������ �� �� "�� !�	� ��
� ���
 ���� �
	�

��
� � �#���  �#� � ��  %� ������ ���� ���
 �
� �H2 � � �# �����!� ��� �� ����
�� �#����
��� 
 �� �� ����
�� �� ��
� �! ���
 ���� �
	�
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Low Stop Filter
$!#)(" $ )< 1" ( $9 '!;9�* 13 !" �( ); �')7-

*# 3% '!-4(
Band Stop Filter

:' $ )< 1" ( &� ) -* +�( ); $ !� )-9 $ )< 1" ( 3';9� +$ !� )-9
C3 )! ! - 3 )#'4( !35( 3)"-* '58% *!4* $ !'% )3(� $!"" (� *# 3% +$ !';3 1)*< :4(* $ !';3�
*!-/(- $!')- !< !;! *4 3%2 +$ !# )( " ' !-4( 1" () &$ !';3� *#-

1
%!� �*5 ';3� 3-)93 '5% 3#'4(

+$ !# )(" ' !-4( 1" ( %5 )"- �/(4�- /83 " 1#* +' ):-)
+
B
1)4:/ ';3 $4 $ !#)( " ' !-4( 1" ( *5 $*�� 3-)93 3% -5<"

hLPF (t) = F−1 [HLPF ]
,=+=+>� 0

=
1

2π

∫ ∞

−∞
HLPF (ω)ejωt dω

,=+=+?� 0

=
1

2π

∫ B

−B
ejωt dω

,=+=+?> 0

=
1

2πjt

[

ejBt − e−jBt
],=+=+?? 0

=
1

πt
sin(Bt)

,=+=+?@ 0

=
B

π

sin Bt

Bt

,=+=+?A 0

=
B

π
sinc(Bt) .

,=+=+?= 0

π
*5 3 )(*5 3)*)8#- 3 8%3( �!7/")8� +�*5 !*( ! /(� �'4� �2)

t = 0B- 1
�))5

sinc
�!7/")8�

+
t
*5 $ !!*!*5 $ !#'4* $9)

t
*5 $ !*);9 $ !#'4* $9  8%( �")5 �2 3 )% !# -* $ !5 " +

0B- ' )(%# :4(*
13 !" %* !# 3'')9 �")5%'� �;-)4� +3 !8) �"!%5 $*� 3-)93 $4 &3 !3-! %* 3#'4( '%3( % )�5 1%#(
-')/( 1" ( 5((* !;# +!*%;!% $ !#)(" ' !-4( 1" ( 5((* 13 !" %* 1#*) &!3 !(% 1(2- �2# 1" ( 5((*
'3 )! �*);9 � !�5��5 *## +$ !!*!*5 $ !"( 2- �3 )%  8%") &$*�� 3-)93 3% ��5 " C� !�5� $4 1" ( 5(("
+1" (� 3':(- !)*3� ! ;"� *)/ !5 % )� 3 ))!4) � !�5� 1!- */5(� !))!5 )BBB3 )%� 3')7 '3 )! '(53 �#

1�/� 3�� .��� 14/�0 565 6�
!# 3 )5 !';* $%3�- &';3� 3-)93 �'; 3';9)( 3 !'%"!* �2%8 3#'4(

|H(jω)| = 1,
,=+=+?� 0

∠\H(jω) = αω .
,=+=+?� 0

% !�
x
3)% *4 3#'4(� 3*)48 &1# $% +

H(jω) = ejαω !# % !� 3 )5 !';� !35 3)4(5( +)�5*#
α
')-4

Y (ω) = X(ω)ejαω,=+=+?� 0
1#*)

y(t) = x(t + α) .
,=+=+?� 0

+� !�5� !� )2 '( )*#
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3 )%(9); � !' )8
�
��� ������ � ��
�� ������� � ��

1)#" �% !":58 0 ' )%3 13 !" +� !' )8 3'(3� *5 $!! ;"� $ !5 )( !5* 3 )%(9); '8 ( �%'" �2 � !4 -
+';3� $ )<3- )' )%3 ) 1" (� 95 )( 3% '%3" �5(�- +- )- !' *5 ) 1)"8 !% *5 ,3 !")'/4

�23� �� 5 6� 6 8
!';3- 3 )3 )% �3 !<"( �'!8 )(:%� +-' /<'(* ,�/ ! )( &')- !; 0 4(5 3)% '!-4�* $ !"!!")4( )"%5 <!""
B':/*% 3 )3 )% �'!-4( �'!8 )(:%� 3%2 3()4* +-' /<'(* $'!-4�* �5/ 1#*) &,

0− 20KHz
0 4(5�

-)'/ 3 )!�* � !'7 �#')% '5% &�": "%- �')7 5 ! !: "9( )':/*% *9 '7!* !;# +!;(* �-): �')7- $ !!: "9( )
� !�3 �)-9 ';3- 4(5 3 )%* $ !%3(� �2( 3 !'!54 % )�5 *9 �')%* �( !%3( '5% �": "% +*9� �')%*

*5 �')%-

λ =
c

ν
=

300, 000

20, 000

km/sec

1/sec
= 15km .

,=+� +> 0
� )-9 ';3- ,!: "9( )':/*% 0 3 )% *4

x
!)7'� 3 )%� 3% 5 !-*�* 1#* � "" +3 !54( �": "% *!-5- � )'% :4(

3000MHz =
;4

500KHz = 0.5MHzB( $� $ !!: "9( )':/*% $!*9 !' );!5* $ !*-)/(� $!';3� +�-'�-
$ !';3 �':7" )' !-4�* !;# �5(�- �%'"5 !8#)

5.5MHz
';3 ;4 4!9( !:';": ,)%;!) 0 !2)< 3 )% +

3GHz+'3 )! $ !� )-9 $ !!: "9( )':/*%
)2 �: !5- +

AM—Amplitude ModulationBBB�;): !*8(% 1)"8 !% 3%'/" '3 )!- �: )58� 1)"8%� 3: !5
5;< 3 )% *-/"BBB!)7'� 3 )%� 3% )- $ !*!8#( )

cos(ω0t)
<!"" C

ω0B- 1( "5 ';3- 3 )% $ !'7!!(

y(t) = x(t) cos(ω0t) .
,=+� +? 0
�87" 1#*) &

20KHz
-!- ;4 !3 )4(5( *;)9 *4- % )� !2% &4(5 3)% 1#% % )�

x
$% +';5 " 5;<� 3 )%� 3%

�!7)*))")/� 3")#3 )
( 5.4.14)

!8* C';)5(� 3 )%* �!' )8 3'(3� 47-" +
ω >> 20KHz

')-4
X(ω) ≈ 0

!#
&';3-

F (x cos(ω0t)) (ω) =
1

2π
X(ω) ∗ F(cos(ω0t))(ω)

,=+� +@ 0

=
1

2π
X(ω) ∗ π (δ(ω − ω0) + δ(ω + ω0))

,=+� +A 0

=
1

2
(X(ω − ω0) + X(ω + ω0)) .

,=+� += 0
' )'- !2% &

X(ω + ω0) = 0
)%

X(ω − ω0) = 0B5 )% '()*# & 8%3( 3)3 )%�( ;<% 3)<8*
ω
*#* $%

�#
ωB

$ !!/ !# 1# $% <!"" +
X(ω)

*5 )3')7 �( / )!;- $ !4;)! )"% C4;!( $ )5 )";-!% %*5 3!-!: !% ): "!%
+
ω0 > ωB

$ !!/( %5 )"� *9� ';3 ) &|ω| > ωB
')-4

X(ω) = 0B5�3 )% ) ';3 )3 )% $4 &
cos

3 )% )3 )%- - )5 ';)5(� 3 )%� 3% *!8#"
Demodulation

3)%� 3% '2<5* !;#
+,$ !%3( '-9(- 3 )%� 3% '!-4�* 13 !" ;!(3 1#5 �4);! % !� ;)4 *# �-)5< �"!% �;): !*8(%� 0 �2%8
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3 )%(9); � !' )8
*-/" +

zB- '2< )5(� 3 )%� 3% 1( "

z(t) = y(t) cos(ω0t)
,=+� +� 0

Z(ω) =
1

2
[Y (ω − ω0) + Y (ω + ω0)]

,=+� +� 0

=
1

2
X(ω) +

1

4
X(ω − 2ω0) +

1

4
X(ω + 2ω0) .

,=+� +� 0
1!4'9 *5 �!')8 3'(3� '5% �!7)*))")/ 3#'4( �"-" +$ !'3 )!(� $ !/*<� 3% / )'2* �2 )"* '3 )"5 *#

3(!!/(
H(ω)

�!7)*))")/�

H(ω) =











2 |ω| < ωB

0 |ω| > ωB .

,=+� +� 0

%7)(- *-/" )2 3#'4(*
z
3%  !"#" $% +$ !# )(" '!-4( 1" ( '()*#

Z(ω)H(ω) = X(ω) .
,=+� +>� 0

+' ); !5 �')7* )!';3 !)"!5 $4 ;<! &!)7'� 3 )%� 3% $*5 )( ')2< !5 )"*-/ '()*#
3#'4( $4 $*5 )( �2%8 $ )%3 ) ';3 $ )%3- �!�3 ')2<5� 3#'4(5 5 )';* �5/ !54( 18 )%-5 1-)(#
*5 1( ! * '5%- 3 )'!�- ' )< 4)"(* !;# +38:4( !)*9 *4 3  )-(� ')2< !5 3#'4( ')7!* 13 !" +1)"8!%�
!# 3 )%'* */ �2 -7(- +; !(3 !-)!< � !� !5 3"( *4 &4)-/ 38 )3 !;! *4 3 )%� 3% 2!2�* �')7 5 ! &3 )%�
3% <3"* $ !'58%( $"!% )"!;!-5 $ !*#� ) 3 !'%"!* 3#'4( �"!% )2 $*)% +3 )%� 3% '2<5 ! 38:4( !%*9

+�3 )9�"3�
�2��/ 56� 6�

;47� +�-'�- � )-9 ';3- &$ !!: "9( )':/*% 3 )3 )% !-9 *4 4(5 3)3 )% ';5* ;7!# )"!*!9 $;)/� � !4 -
$ !';3 *)7!" !;! *4 3%2 +'3 )! �*);9 4;!( 3 )(# '!-4�* 3"( *4 $ !")5 $ !';3- *!4 ! 5 )( !5 % )� %-�
!');!5 3'-4�* $*)4� *#- 35(5( )2 �: !5 +

FDM: Frequency Division Multiplexing
3: !5- $!")5

$3)% 1( " +';5* $ !"!!")4( )"% $3 )% 3 )3 )% �5 )*5 )"* 5 !5 <!"" �5<(� $5* +; )4 ) � !2!)*: &)!;'
')-4

Xi(ω) = 0
$!!/3(5 �#

ωB
$!!/ '( )*# &';3- $ !*-9)( $*)#5 3 ):58 $5* <!"" +

x1, x2, x3B-$ !!/3 !5 �#
ωi

'<-" +|ω| > ωB

ωB < ω1
,=+� +>> 0

ω1 + 2ωB < ω2
,=+� +>? 0

ω2 + 2ωB < ω3 .
,=+� +>@ 0
% )� &';5 "5 3 )%� % )�5 &*-/3�5 3)%� +'-<") $ !%3(� ';3-

cos B- � !"#� 3 )3 )%( ;<% *# *!8#"

y(t) = x1(t) cos ω1t + x2(t) cos ω2t + x3(t) cos ω3t .
,=+� +>A 0
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3 )8 )3 �!' )8
*-/" ,� !')8 3'(3� 0 ';3� $ )<3-

Y (ω) =
1

2

[

X1(ω − ω1) + X1(ω + ω1) + X2(ω − ω2) + X2(ω + ω2) + X3(ω − ω3) + X3(ω + ω3)
]

.

,=+� +>= 0

' )5 !(- 0 �8!8< $ )5 1!% !# 3 )%'* */ &1)"8%� !';3 1!- $ !'5/�) ,:' -<)' 0
xi
*4 )"-7�5 !%"3� **9-

3% +1)5%'� 3 )%� 3% �(9);* '2<5 " +$'2<5* 13 !" �#!8*) &$ !")5� 3 )3 )%� *5 3)'(3�� 1!- ,';3�
C:' '!-4( 1" ( �'; �*!<3 '!-4" ,

y
%)�5 0 :*/"� 3 )%�

H1(ω) =











1 |ω − ω1| ≤ ωB

0 otherwise.

,=+� +>� 0

%7)(- *-/" �2 1" (-
Y
:*/"� 3 )%� 3% '!-4" $%

Y (ω)H1(ω) =
1

2
[X1(ω − ω1) + X1(ω + ω1)] .

,=+� +>� 0
' !-4")

cos ω1tB- *!8#" +1)"8!%- )"; '5%# $;)/� � !4 - 3%2 )"!54 C
x1

3% '2<5* $ !4;)! )"% 1%#(
+
ωB B* 3<3( $ !';3 /' '!-4(�

H
$ !#)( " ' !-4( 1" (-

*#) &)*5( ';3 -!- 2#)'( 3 )% *# '5%# &3 )3 )% '8 ( $ !"(2 )- '!-4�* 3'58%( )"*-!/5 3#'4(�
+$'2<5* �!� ! 13 !" �# +3 )3 )%� 1!- 3 )8 !8< �"!!�3 %*5 �# &5(35( %)� )- :' � -<)'- *-9)( 3 )%
$ !(535()

20KHzB# % )� $�*5 :' � -<)' '5% &4(5 3)3 )% $ !';5( )"% $% &�5<(� �')7* /'
�'-4� 3'58%( ,$ !';3 !"5 1!-

2ωB
*5 <))'( 0 �;'8�� 35 !';5 !'�

1.5GHz−2.5GHz
1!-5 $ )<3-

*5 ,
KHzB- -)5 !<� 0

1, 000, 000

2 · 20 = 25, 000
,=+� +>� 0

+3 !"(2 )- 3 )3 )%

�
��� ����� ��������� � ��
12�� 22. �� �2/�� 2 .�/2� 1/01. 56� 6 8

+';3- .3 )%� ')2!8 . 1!-* 1(2- .3 )%� ')2!8 . 1!-  <!� *4 4;!( *-/* 13 !" � !')8 3'(3� 3)")#3 3'24-
,
5.3.5

:85( &
( 5.3.14)

�% ))5( 0 ';3 1(2 3*/ !)"!5 3")#3(

x(at)
F↔ 1

|a|X
(ω

a

),=+� +> 0
C% !� �*%5� +';3- ')2!8� 3":/�* $ )'93 ,*);9

a
3'!<- !;! *4 0 1(2- ')2!8� 3*;9� !# $ !% )' )"%

�!)*3 �-)53�5 1-)(# �!3 )' !'5 18)%- 1:/ % )� ';3- 1� ) 1( 2- 1� $�*5 ')2!8�5 3)3 )% $ !( !!/ $%�
';9)( % )� +1( 2- ')2!8* ;;(#

∆t
1(2- !- !:/8% -<)' '!;9�* ,�/ !2!8-) 0 � ;"�- *-)/( +')2!8� 3';9�-

!;! *4

(∆t)2 =

∫ ∞
−∞ t2|x(t)|2 dt
∫ ∞
−∞ |x(t)|2 dt

.
,=+� +? 0
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3 )8 )3 �!' )8
!;! *4

∆ω
';3- !- !:/8%� :' � -<)' �( ); �')7-

(∆ω)2 =

∫ ∞
−∞ ω2|X(ω)|2 dω
∫ ∞
−∞ |X(ω)|2 dω

.
,=+� +@ 0

α
)�5*# 4)-/- 3 )%� 3% *!8#" $% C'-9�- !)*3 )"!% ')2!8�5 �#* %!-( ,�"#(� 0 *)('!"� !# -* $ !5 "

+�"35 ! %* !- !:/8%� :' � -<)'

�

�� ��
�� �� ����� x ���� �� 5.7.1 ����

lim
|t|→∞

[√
t x(t)

]

= 0
,=+� +A 0

�x(t) = e−αt2 ���# !��� ������� ∆t · ∆ω ≥ 1/2 ���
&* !4* )"'4�5 !8# +�2 !% "3 %*(* -)'/ 3 )%�5 4-)"

x
*4 !%"3�( +

x ∈ L2B5 �'/(� ')-4 < !# )" C'()*'
3)3 )%* +||x||2 = 1

*-/"5 �# &1# $% 3%2 �54" +)�5*# 4)-/-
x
3% *!8#" $% �"35( �"!% �%7)3�

% )� �'))5 B!5 )/ 1)!))5 !%
L2B-

∣

∣

∣

∣

∫ ∞

−∞
z(t)y(t) dt

∣

∣

∣

∣

2

≤
∣

∣

∣

∣

∫ ∞

−∞
|z(t)|2 dt

∣

∣

∣

∣

∣

∣

∣

∣

∫ ∞

−∞
|y(t)|2 dt

∣

∣

∣

∣

.
,=+� += 0
3'(3�) *)) '8 :85(- $9 5(35" +)�5*# 4)-/ ')-4

z(t) = αy(t)
$% /') $% $ !!/3 ! 1)!))5 '5%#

C3'29"�
∫ ∞

−∞
|x(t)|2 dt =

1

2π

∫ ∞

−∞
|X(ω)|2 dω

,=+� +� 0
∫ ∞

−∞

∣

∣

∣

∣

dx(t)

dt

∣

∣

∣

∣

2

dt =
1

2π

∫ ∞

−∞
|jωX(ω)|2 dω .

,=+� +� 0
$ !/*<- �!7'9: "!%- 5 )( !5 � )3 &%-� - )5 !<� �'; *-/"

1/2
4)-/� 3%

∫ ∞

−∞
tx(t)

dx

dt
dt =

1

2

∫ ∞

−∞
t
dx2(t)

dt
dt

,=+� +� 0

=
1

2
tx2(t)

∣

∣

∞

−∞
− 1

2

∫ ∞

−∞
|x(t)|2 dt

,=+� +� 0

= −1

2

,=+� +>� 0
+
1
%!�5

x
*5 �(')"� % )� *'9: "%�)

x
*4 �<"�� **9- 3 )*)-9� !"5-  8%3( 1)5%'� !): !-�5 1))!#

&
y(t) = dx(t)/dtB) z(t) = tx(t)

'5%# �'))5 !5 )/ 1)!))5 !% 3% *!48") $;)/� -)5 !<�- 5(35" 34#
(

1

2

)2

=

∣

∣

∣

∣

∫ ∞

−∞
tx(t)

dx

dt
dt

∣

∣

∣

∣

2,=+� +>> 0

≤
∫ ∞

−∞
t2|x(t)|2 dt

∫ ∞

−∞

∣

∣

∣

∣

dx

dt

∣

∣

∣

∣

2

dt
,=+� +>? 0
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3 )8 )3 �!' )8
$ !%-� $ !")!))!5� !"5 3% *-/" *)) '8()

=

∫ ∞

−∞
t2|x(t)|2 dt

1

2π

∫ ∞

−∞
|ωX(ω)|2 dt

,=+� +>@ 0

=

∫ ∞
−∞ t2|x(t)|2 dt
∫ ∞
−∞ |x(t)|2 dt

1
2π

∫ ∞
−∞ |ωX(ω)|2 dt

1
2π

∫ ∞
−∞ |X(ω)|2 dt

,=+� +>A 0

= (∆t)2(∆ω)2 .
,=+� +>= 0

'5%# $ !!/3( 1)!))5
dx(t)

dt
= αtx(t)

,=+� +>� 0

)%

1

x(t)

dx(t)

dt
=

d ln[x(t)]

dt

,=+� +>� 0

= αt
,=+� +>� 0

x(t) = ce−αt2/2 .
,=+� +>� 0

+, +� +�
12��� ����0 56� 6�

�� �
 B ��	� ���� �� ��
 ���� �	�� ��� ��� n � 	  # ��� ���!
� x �� 5.7.2 ����

sup
t

∣

∣

∣

∣

dkx(t)

dtk

∣

∣

∣

∣

≤ B, 0 ≤ k ≤ n
,=+� +?� 0

�� �
 B1 �	� ���� �� ��
 �|ω|−(n+1) �%�� � ���� |ω| → ∞ ���
 	��� ����� ����� ����� ���

lim
|ω|→∞

|ωn+1X(ω)| ≤ B1 .
,=+� +?> 0
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